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4| 1 &= i 17.9 0.5 28.6 21.2 3.6 1,190
2 T [ <Y | 12,0 5.9 31.3 24.9 -17.8 341
3 H i 10.0 2.8 34.6 26.0 -8.7 830
4 A & 9.5 -0.3 32.9 24.6 -5.1 936
5 X i 14.9 0.5 34.9 25.5 -2.5 1,104
6 7K L 20.7 1.5 29.3 23.3 3.0 1,262
1 X [<HY| 22.4 3.1 30.6 24.2 -10.4 662
8 ® | <HY | 21.8 8.2 30. 4 22.9 -14.4 408
9 T " 10.8 8.0 21.4 23.0 -21.9 53
10 H 5 18. 1 4.5 30. 1 20.6 1.8 1,075
11 A | <Y | 15.8 5.1 31.6 26.3 -17.8 408
12 K 5 11.2 3.8 33.0 23.2 -3.9 926
13 K i 20.7 0.5 33.2 25.2 -2.5 1,090
14 XK L 23.17 4.7 28.0 21.0 2.1 1,138
15 £ | <3dY | 260 1.3 29.6 23.0 -3.8 922
16 = & 22.4 8.6 24.8 17.9 1.2 917
17 H i 16.1 6.5 29.0 21.5 4.3 1,238
18 A [<vY]| 11.3 3.3 28.4 22.3 -9.9 595
19 X 5] 9.0 6.0 30.7 28.4 -28.2 10
20 K = 12.0 3.0 31.0 25.0 -15.9 437
21 K i 17.0 2.0 32.8 22.6 -2.5 965
22 & | <HY | 10.9 1.1 30. 1 25.6 -24.4 58
23 x " 16.1 9.0 21.2 24.4 -24.1 14
24 H & 18.2 8.2 26.5 18.6 0.9 936
25 R i 16. 2 6.8 28.0 19.0 -1.6 547
26 XK | <BY | 19.7 4.3 28.17 20.0 -1.9 869
21 K [<®Y | 26.9 9.9 23.17 16.5 2.3 902
28 K = 21.2  12.8 16.3 11.5 4.7 118
29 = i 17.0 1.5 25.5 16.9 5.0 1,051
30 =L & 18.2 5.1 22.5 16.2 -2.0 682
870.7 661.3 22, 344
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